ACT Practice







Name ______________________________

Geometry A Chapter 1

 




Hour ______
Date _______________
Choose the best answer.  It is expected that work is shown to receive full credit.  

______  1.  What is the area of a rectangle with a length of 36 and diagonals of 39?

A.  108

B.  540

C.  702

D.  1404

E.  1621

______  2.  Angles A and B are supplementary angles, 
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4. Tn the figure below, A5= T and BC is 10 units long. What is the area, in square inches, of
44BC?

K. Cannot be determined from the given information
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.  What is the measure of the complement of 
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A.  28º

B.  33º

C.  57º

D.  62º

E.  118º

______  3.  If a circle has a circumference of 25.12 inches, what is the area?  Use 3.14 for π.

A. 4 
B. 8 
C. 12.56 
D. 50.24 
E. 200.96 

______  4.  Edging cost $2.32 per 12-inch stone and you want a double layer of edging around your flower bed that is 6 yards by 1 yard. How much will edging your flower bed cost? 

A. $32.48 
B. $64.96 
C. $97.44 
D. $129.92 
E. $194.88 

______  5.  What will it cost to carpet a room with indoor/outdoor carpet if the room is 10 feet wide and 12 feet long? The carpet costs $12.51 per square yard. 

A. $166.80 
B. $175.90 
C. $184.30 
D. $189.90 
E. $192.20 

______  6.  If the perimeter of a rectangular house is 44 yards, and the length is 36 feet, what is the width of the house? 

A. 10 yards 
B. 18 yards 
C. 28 feet 
D. 32 feet 
E. 36 yards 

______  7.  If the area of a square flowerbed is 81 square feet, then how many yards is the perimeter of the flowerbed? 

A. 9 
B. 12
C. 18
D. 36
E. 40.5 

______  8.  What is the cost in dollars to steam clean a room W yards wide and L yards long it the steam cleaners charge 10 cents per square foot? 

A. 0.9WL 
B. 0.3WL 
C. 0.1WL 
D. 9WL 
E. 3WL 

______  9.  You have orders to give a patient 20 mg of a certain medication. The medication is stored 4 mg per 5-mL dose. How many milliliters will need to be given? 

A. 15 mL 
B. 20 mL 
C. 25 mL 
D. 30 mL 
E. 35 mL 

______  10.  A rectangle with area 2592 square inches is twice as long as it is wide.  What is the perimeter of the rectangle, in feet?

A.  3
B.  9
C.  18
D.  36
E.  72
______  11.  In the figure below, 
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and BC = 10 units.  What is the area, in square inches, of ΔABC?
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A.  12.5

B.  25

C. 
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D.  50

E.  Cannot be determined from the given information

______  12.  When graphed in the (x,y) coordinate plane, at what point do the lines x + y = 5 and y = 7 intersect?

A. (-2, 0) 

B. (-2, 7) 

C. (0, 7) 

D. (2, 5) 

E. (5, 7) 

______  13.  The midpoint of 
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is M(-2,1).  One endpoint is A(-6,4).  What is the length of 
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A.  3

B.  4

C.  5

D.  7

E.  10
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